—— A
N = 0] &F AF S & AN A
20228 = 20l A LB H I8 EAE
2K a8 AE D
H: JIESE2X MHA =Y
Chelr AME NEHY D CER-ED
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
HEaEAYE D 18,496,279 13,035,747 5,460,532
2 4,437,442
g 687,000
Jl 783,492
= 4,529,294
= 8,059,051
t==2X HMdlA &M 12,171,580 10,371,645 1,799,935
= 4,418,932
g 687,000
J| 548,816
& 2,851,471
= 3,665,361
A8E IIFEEHE 2 2,703,463 2,165,197 538,266
= 284,344
g 687,000
J| 441,166
= 331,987
= 958,966
HeoleEdijer X 4,000 4,000 0
301 et M= 4,000 4,000 0
09 HAIAHI X & 2 2,000 2,000 0
O&EUsz &« A FA 20,000 *30H x33| 1,800
OdHMAE=20HAEUZ &M 100,000& »2H 200
12 J|IEtE2 A= 2,000 2,000 0]
OWME=2X H3ZE S 40128 L wNx 2AIE
= 2,000
A e 23AIY 13,000 13,000 0
= 3,500
= 9,500
307 QI2t0| ™ 13,000 13,000 0
= 3,500
= 9,500
11T A EXAIEEX 13,000 13,000 0
OWESHEE ASAIY 13,000
= 3,500
= 9,500
JdEHENY FHGEXA 5,600 5,600 0
= 2,080
= 3,520
201 et d| 2,720 2,000 720
o 1,216
= 1,504
01 AP 22| H| 2,720 2,000 720
OJIgH HEHZ *FHAMY 2,000
&< 1,000
= 1,000
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2N

HeEAEN

M JIE=X MHIA =
Chelr AME NEHY D CER-ED
= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
O FHSLEAHAM 29 720
< 216
[ia 504
307 21201 A 2,880 3,600 AT20
< 864
i 2,016
11T M3 SXAISEEX 2,880 3,600 AT20
O FHELAHA 2=t 2,880
= 864
i 2,016
MEHH XIE2H 66,688 64,134 2,554
= 33,344
< 16,672
s 16,672
307 gl2tol & 66,688 64,134 2,554
= 33,344
< 16,672
s 16,672
11 ALS S XAEE = 66,688 64,134 2,554
OF S EAHA 1 AH] 61,168
= 30,584
< 15,292
[ia 15,292
OHIZ#A ML 5,520
= 2,760
< 1,380
s 1,380
OEASENH X& 52,000 50,550 1,450
201 L2l 5,000 5,550 A 550
01 At 22l 5,000 5,550 A 550
OLLEsS=2 JIgdAL EEIH M
120, 0002 *54 600
ONMEY 22X 222E M 400
OWLEHE AtR2teldl 2,000
OWEZEME SEl 2,000
203 H R =&l 2,500 2,500 0
03 Al =X A2 =& 2,500 2,500 0
OWAZHAHE AMLIET 2,500
206 M= Hl 12,000 8,000 4,000
01 = bl 12,000 8,000 4,000
OLdEsNE 29 12,000
301 LA Z 12,000 8,000 4,000
12 J|EtE 4= 12,000 8,000 4,000
Ol A+¢ 4,000
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ARG RS~
M IE=X MdlA =

el A[B JEFM g (S5 &)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
OWE23NE 29 LA 8,000
307 QI2t0| ™ 20,500 24,500 A4 ,000
11T A EXAIEEX 20,500 24,500 A4 000
OXHdHSF2H DG A 6,000
OWMESMES 43 N 2,500
OWHESHMAXNEX /3AS 8,000
O3BAIY LHE=2Z MY =24 & HetI| 4,000
JIEZE Ok XEgg=s 228 2 9zH A& 428 428 0
J| 300
& 64
= 64
301 et A= 428 428 0
J| 300
& 64
= 64
01 Al B & A 462 428 428 0
OJIEZd TlolAt XIgsle T2 2 o2
H K& 428
J| 300
& 64
= 64
SAEZHIIoHAF 2l=H|, 2t8Hl K& 500 500 0
J| 350
& 75
= 75
301 et A= 500 500 0
J| 350
& 75
= 75
01 Al E & A 462 500 500 0
O&d=ZdI0lol A+ 22| 2+¥Hl X 500
J| 350
=} 75
= 75
OlSHHHtE XYl 2 1,800 2,000 A 200
= 540
= 1,260
201 et 1,800 2,000 A 200
= 540
= 1,260
01 AP 2t 2] H| 1,800 2,000 A 200
O0ts - 48 otNd X9l 2 1,800
& 540
= 1,260
SIERIIENE 224 & XA 283,494 164,639 118,855
Jl 226,796
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<

n0

Kio

Hl w

118,855

118,855

3,500

3,500

3,500

974

974

974

18,571

H3r
Wikd
RIS

164,639

164,639

28,500

28,500

28,500

2,379

2,379

2,379

1,000

1,000

1,000

340,000

Off &t 24

4

28,349
28,349
283,494
226,796
28,349
28,349
283,494
283,494
226,796
28,349
28,349
32,000

i

Jl

I

mH

y

H

mH

9,600
22,400
32,000

H

9,600
22,400
32,000
32,000

I

9,600
22,400

[

3,353
2,683

Il

335
335

3,353
2,683

H

mH

Jl

335
335

HH

3,353
3,353

2,683

335
335
1,000

J|

H

333
667
1,000

H

1

333
667
1,000
1,000

H

i

333
667

358,571

H

mH

i

251,000
43,028

H

CH

28

b

=1
=

Kl A
=T

no
&l
H

o)
oll

o

.

00
=
__A_vv

o

o0
o

Kir
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I+
o
ur
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=

o)

ur
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=

no
]
H

J
oll

oM

D

O
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m
<
RO

no
&)
iy

]
ol

301

i)
)
<
®0

30
0K
oJ
oll

01 AtR 2t 2l |

o
[

2|

=

OtoIE= A
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ARG RS~
M IE=X MdlA =

el A[B JEFM g (S5 &)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
o 64,543
307 2iz2to| A 358,571 340,000 18,571
2 251,000
= 43,028
= 64,543
11T AISIEXAIEEX 358,571 340,000 18,571
OotolEss XFAY 358,571
= 251,000
& 43,028
= 64,543
Ct2sotd XI& 80,080 69, 340 10,740
307 QI2t0| ™ 80,080 69, 340 10,740
11T A EXAIEEX 80,080 69, 340 10,740
OAHLINE - U2SIIsSXNIEEH dHE N
1,000,000 =120 & 12,000
OUSSIIE S3MEg €8 208 24 6,000
OUERIHE FHLE NI AN 40,000
OZE0F:0AHE ZEIE =FXNEAS 5,000
OZ2E0F0HHE S=20E L MER2IDH 3,000
OU23IIA st=2Ag 28 NIAY 2,000
OMEZ2XAIE SAXN AL2HEH K& 2,080
OOIH X Relwad XA 10,000
A201E € O2ss NJMdH 29 263,840 259,300 4,540
J| 131,920
= 39,576
= 92,344
307 QI2t0| ™ 263,840 259,300 4,540
J| 131,920
&< 39,576
iy 92,344
05 QIZtREZ 263,840 0 263,840
OHAUINE L UR3IE XNJHH 29 263,840
J| 131,920
& 39,576
= 92,344
Z2E010X SHSEMHA XS 31,788 30,050 1,738
J| 15,894
= 4,768
= 11,126
307 2Iz2to| A 31,788 30,050 1,738
J| 15,894
= 4,768
= 11,126
05 QIZ2tREF 2 31,788 0 31,788
OZ&E0|12X SHAEAMHA K& 31,788
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2N
X ZH -
L= B

el

GEEAHD
INE=T MHIA SO
A NEWH

L L]

SN FH-SA(EN) - MBAY - BES

Off &t 24

=

i
2m

S

M

15

,894

4,768

1

,126

CE23tE A gY X

S

SUNE

38,498

19
5
13

249
775
474

34,680

3,818

307 21201 ™

S~

NN

38,498

19
5
13

249
775
474

34,680

3,818

&
a
S
0
Jm
oy

@)
a
Ho
o
£

B
=
i
e
2
e
o
sl
{0

S

M

38,498
38,498

19
5
13

249
775
474

38,498

2 s X JEEH SAHR Q&R

10

EURLY

52,230
18,508

33

722

52,983

AT53

307 glztol &

M H

52,230
18,508

33

722

52,983

AT53

1A SXAIE 2 =

OUZ ISR HE SALA el24H]

OUZAINEXNFLAH SAX X

OU=IIEXNEHEH BESE

M H EUNL

EUNL

52

,230

28,390

11

,356

17,034

15

5

,840
4,
11,
8,
2,
,600

752
088

000
400

52,983

AT53

EUNE

,340

,736
,604

8,500

840

307 glztol &

Mo

,340

,736
,604

8,500

840

M H

OO w ©O© Ol w O |low ©o

,340

,340

,736
,604

8,500

840

UL

103

36,
67,

,300

165
145

102,000

1,300

307 21201 &

2l

1083,
36,

300
165

102,000

1,300
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P -PNEE
DOIE=N AHIA =0
D AME IEEY P

L L]

SN FH-SA(EN) - MBAY - BES

Off &t 24

=
i

2

HJ

67,145

A SXAIEE X

O2z¢ t=stg 22

EUE

103,300

103,300

36,155
67,145

102,000

1,300

F3tE ngUsol X

M

8,000

2,400
5,600

14,000

A 6,000

307 glztol &

Mo

8,000

2,400
5,600

14,000

A 6,000

1A SXAIE 2 =

Oh2sitE neLs0l X

UL

8,000
8,000

2,400
5,600

14,000

26,000

Ct2st 482 XJAMSY

VN

6,000
2,400
3,600

5,400

600

307 21201 &

M

6,000

2,400
3,600

5,400

600

11 A2l S XA

HEX
Ott2staad 2 XA AMY

M

6,000
6,000

2,400
3,600

5,400

600

rdgs &€ d

1

8 S YgRusAHdla X

0z

S

EURLY

72,448
36,224
10,867
25,357

70,144

2,304

307 glztol &

S

EURLY

72,448
36,224
10,867
25,357

70,144

2,304

S
e
S
40
Jm
oy

OYgSUSXNAAMEIA X2

S

EUNE

72,448
72,448

36,224
10,867
25,357

72,448

o

H
2
S|
Ho
Mo
02

N

EUNE

156,500
7,750
2,325
5,425

156,500

307 glz2tol &

S

EUNE

16,500
7,750
2,325
5,425

156,500
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2N
X ZH -
L= B

el

Ol & & A
=T MBIA s
A[E NZFH 7

SN FH-SA(EN) - MBAY - BES

Off &t 24

=

i
2m

[m]

| Et
5
ol

O

05

S
0
oy

[

a
it
S

&

H0

=
=

S

EUNE

15,500
156,500

7,750
2,325
5,425

R AT

1,187,000
687,000
100,000
400,000

813,000

374,000

401 AIEBIZ S CHYI

oA

1,187,000
687,000
100,000
400,000

813,000

374,000

OYals g=rold HEMEH AY

Mo A

1,187,000
1,187,000

687,000
100,000
400,000

813,000

374,000

Ol0l= =20l A28 & K&

EUNL

510

163
357

570

A 60

307 21201 &

EUNE

510

163
357

570

A 60

ARSI S XA E X
OOt0l==0l AZaddl K&

Mo

510
510

153
357

570

A 60

10,000

10,000

10,000

10,000

10,000
10,000

10,000

M

2,495

748
1,747

2,495

307 glztol &

Mo

2,495
748
1,747

2,495

1A SXAIE E =

Ootol==20l E=un=d X&

UL

2,495
2,495

748
1,747

2,495

H
Ho
x
=
I>
0%
0z

o

5,666,929

2,634,480
1,694,690

4,948,196

718,733
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2N
D IFESX MHIA B

X ZH
S =

HeEAEN

el B MU A (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET

o 1,337,759

Helold wd Exus 600 400 200
= 300
< 150
s 150

307 glz2tol & 600 400 200
= 300
< 150
s 150

11T M SRASEEX 600 400 200
Oelold W E20=s 600
=2 300
< 150
s 150

OEols 2SI XNA(HE29d|) 39,000 34,000 5,000
= 19,500
< 9,750
[ia 9,750

307 21201 A 39,000 34,000 5,000
= 19,500
< 9,750
[ 9,750

11T M3 SXAISEEX 39,000 34,000 5,000
Oogold X294l 39,000
= 19,500
< 9,750
s 9,750

Moy 2L X2 (L 74l) 5,200 6,000 A 800
= 2,600
< 1,300
[ia 1,300

307 gl2tol & 5,200 6,000 A 800
= 2,600
< 1,300
s 1,300

11T M SXALS EX 5,200 6,000 A 800
Oeold wWMwHl 5,200
= 2,600
< 1,300
[ia 1,300

EswAR o1AHl X 2,534,600 2,228,800 305,800
= 1,267,300
< 633,650
e 633,650

307 glz2+ol & 2,534,600 2,228,800 305,800
= 1,267,300
< 633,650
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ARG RS~
M IE=X MdlA =
& ESMHASY (Sl & &)

SA-3H-S(3AH) - MRAS - BES Off &t 24

=

M
2Hm
==
£l
Ol
0y

633,650

HJ

10 A SXAEHE2SEHIEX 2,534,600 2,228,800 305,800
OEsuaa o248 X& 2,534,600
1,267,300
633,650
633,650

M A

.
ox
02
10
1>
op
=
0
>
I

384,600 461,600 AT7,000
250,000
67,300
67,300

UL RN

301 LEENF 384,600 461,600 AT7,000
250,000
67,300
67,300

U RN

0ol 3 384,600 461,600 AT77,000
tes=g NEAY 384,600
250,000

67,300
67,300

MW

08
AS|
e
Ol
2
m
=)
™
paa
FY

10,900 10,500 400

2,180
8,720

M

307 21201 & 10,900 10,500 400

2,180
8,720

EUNL

A S XA E X 10,900 10,500 400
OO0eold Hetegd K& 10,900

2,180
8,720

M

drotEsz X 938,500 792,400 146,100
610,000
131,400
197,100

HH W

307 glztol & 938,500 0 938,500
610,000
131,400
197,100

Mo H

= 938,500 0 938,500
O02M 252 X& 938,500
610,000

131,400
197,100

MW

3N FRHEESE 607,640 644,900 A 37,260
607,640

H

301 et

>
oy

207,640 644,900 AN437,260
207,640

H
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2N
X ZH -
L= B

el

HedEA24E
IFE=EX MHA =0
ESAHUIAEA

= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
01 MI2EZE+06l= 207,640 644,900 A 437,260
0354 el BEESS2(282, 298,12
«dl) 207,640
< 207,640
307 glz2tol & 400,000 0 400,000
< 400,000
05 RIZHRI & 3 400,000 0 400,000
OO35M SRl EE2(ESE) 400,000
< 400,000
Helold 2gXE(s0Egel ool X) 3,160 5,000 A1,840
2 1,580
< 790
[ 790
307 21201 A 3,160 5,000 A 1,840
2 1,580
< 790
e 790
11T MISRASEX 3,160 5,000 A 1,840
OsHEY2 Helod XA 3,160
= 1,580
< 790
s 790
ESUAAMSIH L 85,000 68,000 17,000
< 25,500
[ia 59,500
307 21201 A 85,000 68,000 17,000
< 25,500
s 59,500
11T ALSI S XAEE = 85,000 68,000 17,000
OB®uAA YRMAH 85,000
< 25,500
e 59,500
BEDNA HRME N (HBOIZSLLA) 184,000 174,600 9,400
2 92,000
< 46,000
e 46,000
307 izl & 184,000 174,600 9,400
= 92,000
< 46,000
e 46,000
11T MISRASEX 184,000 174,600 9,400
O0eold €At XI& 184,000
= 92,000
< 46,000
s 46,000
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CodEAEn
D OE=EX MUIA =T

D RS A A 9 EE)
= _ — d =
SN HAGEA) - MRAY - B 0l &t o e 2
DY HR2ME N (sEESUA SE2 2+ 80,000 72,000 8,000
2)
= 40,000
< 20,000
s 20,000
307 21201 A 80,000 72,000 8,000
= 40,000
< 20,000
s 20,000
11T MISAASEEX 80,000 72,000 8,000
OsEESuA SEE822xE & 80,000
= 40,000
< 20,000
s 20,000
ool E=0 XN& 29,800 12,000 17,800
< 8,940
s 20,860
307 gl2tol & 29,800 12,000 17,800
< 8,940
i 20,860
10 AL SXAIEEE2EHEX 29,800 12,000 17,800
oogold &0 XA 29,800
< 8,940
s 20,860
ESUANRA BX - AFUIAL A& 295,000 289,200 5,800
= 147,500
< 73,750
s 73,750
307 glz2+ol & 295,000 289,200 5,800
= 147,500
< 73,750
i 73,750
10 ALSISXAIEEE2EHEX 295,000 289,200 5,800
ESUANR BX - A WAL A 295,000
= 147,500
< 73,750
s 73,750
oo 29 X 123,189 91,080 32,109
201 2et24d] 9,000 8,000 1,000
02 232gHl 1,000 0 1,000
OAMIIZRIAIE2el 1,000
03 A2 Z Hl 8,000 8,000 0
OEswaa 23 XF 8,000,000 *13] 8,000
301 LA F 55,000 51,080 3,920
01 M3IBEE 263 55,000 51,080 3,920
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ARG RS~
M IE=X MdlA =

el B MU A (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OBSUHA(XZLIA) =& X2
50,0002 *9H 1204 2 5,400
OEsnIA(BESWAMN) 25+ X
((15%+30,000& )+(27H 50,0003 ) )= 1200 & 21,600
ONEold EsnAt 332 X&
200,000& x70E #23| 28,000
307 glz2tol & 15,293 32,000 A 16,707
11T M SXASE EX 15,293 32,000 A 16,707
ONE0lE UHM=EcIA XI&
9, 1603 *BAl 2t+152 «9IH A 9,893
Ogelogold ddeE(+g) XA
30,000 15 «12& 5,400
402 QI2H X201 M 43,896 0 43,896
01 2I2F 2 A B (RERITH &) 43,896 0 43,896
Ooogold JIsed X 54,870,000 *80% 43,896
g0y S2tAldl X 23,400 24,216 A816
= 7,020
e 16,380
307 g1zl & 23,400 24,216 A816
= 7,020
s 16,380
11T MISRASEEX 23,400 24,216 A 816
ONgold Z2tAHl X 23,400
< 7,020
s 16,380
AM2ZHES X 10,000 30,000 220,000
= 5,000
< 2,500
[ia 2,500
307 21201 A 10,000 30,000 220,000
= 5,000
< 2,500
[ia 2,500
11T MISXASEEX 10,000 30,000 A 20,000
O0eold AlZHES XI& 10,000
= 5,000
< 2,500
s 2,500
O12l0lE CHAM A XI& A 28,800 0 28,800
= 14,400
< 7,200
s 7,200
307 glz2tol & 28,800 0 28,800
= 14,400
< 7,200
s 7,200




ARG RS~
M IE=X MdlA =

Sl RN AL (S &2)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
11T A EXAIEEX 28,800 0 28,800
O0EI0lE HH A X 28,800,000& *1H 28,800
= 14,400
o= 7,200
= 7,200
AOol4eS XS AL 283,540 0 283,540
= 184,300
= 49,620
= 49,620
301 dEtE M= 283,540 0 283,540
= 184,300
= 49,620
= 49,620
01 Al B & X 26 2 283,540 0 283,540
Od0ot=g X3AH 283,540
= 184,300
& 49,620
= 49,620
OlsE2 X MUl A SFA 3,801,188 3,258,252 542,936
= 1,500,108
J| 107,650
& 824,794
= 1,368,636
Ols=XNYFFA 8,720 4,000 4,720
201 et d| 8,720 3,000 5,720
01 AP 2t 2| H| 4,000 3,000 1,000
OOsS=2XZEE AR 22l 1,000
O0ls=sXYg2=8 32| 3,000
02 E=22%H| 4,720 0 4,720
O0ls&sll dsiEd 34 ¥ 22| 4,000
O0ls&l 2222 SUds 01223 720
QlekotE II=E= X & 16,200 17,999 A 1,799
J| 11,340
=} 2,430
= 2,430
301 dEtE M= 16,200 17,999 A 1,799
J| 11,340
= 2,430
= 2,430
01 M EXEE 2562 16,200 17,999 A 1,799
OgAots =2 & 16,200
J| 11,340
= 2,430
= 2,430
OlSYEY XA MXNSHHEBAEX 97,664 42,119 55,545
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2N
X ZH -
L= B

el

HedEA24E
JIIE=EX MUlA &
OlSSXAHIA ghat

SN FH-SA(EN) - MBAY - BES

Off &t 24

=

i
2m

Mo

68
14
14

,364
,650
,650

A

97
68
14
14

,664
,364
,650
,650

42,

55,545

HH A

97

97

68
14
14

,664

664
364
650
650

42,

55,545

IIEEESH X&

M

111
11

100,

,300

,130
170

132,

300

A 21,000

301 LEIEN S

M

111
11

100,

,300

,130
170

132,

300

A21,000

VR

111
111

1
100

,300
,300

,130
170

132,

300

21,000

EUNL

37

11
25

, 140
142
,998

37,

140

EUNL

37

11
25

, 140
142
,998

37,

140

Mo

37
37

11
25

,140
,140

142
,998

37,

140

oW

28

23
5

,800

,040
,760

28,

800

o

28

23
5

,800

,040
,760

28,

800

Rt

28

28

23
5

,800

,800

,040
,760

28,

800

M

51

12
38

,100

775
,325

49,

275

1,825

307 glztol &

51
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